@?/ %ﬁ @ & i EROHE (RO

ZHI: AICG:_ AO7:
6" +(-8) = (-2)" = (-4 =
70D — 5= (5 = (-4) =
29+ (-9) = (D' = ()=
3D 4+ (-1) = 100D —(=5) =
672 g = (2> +6=
(—10)* + (-3) = 3 —(-10) =
5 +1= 6> +(—6) =
3D~ 9= (—1)° +(-9) =
(—4)° +(-8) = 100D 3 =
o —(-1)= 4 +(-5) =
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2 HiCh:._ 237
6> + (—8) = 28 -2) —(—4)=5
() _ s 40 D gy 1954
7T = 5= () = (42) (-9 - (4= 7 =3
. 35 3
27+ (-9)= (-7 = (-87) (12 (2)=3
D4y 2 ) _ el _ 1
3N+ (D=3 1070 = (=5) = 75 =55
. 287 35
672 —8=(—3) = (73¢) (<2 +6=10
(—10)? +(=3) =97 32— (-10)= 19
52 +1=26 6 + (—6) = 30
. 30 8
¥ -9=(5)= (8p) (1) +(-9) = (-8)
. 29 9
(-4) +(-8) =8 1079 =3 = (=350 = (25
¥ —(-1)=2 42 +(=5) =11
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